X E X E KR

R =

11

EX2 THFEHESEEHEGIINMX) REEEEMEIT HEENHNERE
X 5 ETE] % # BE [HE B > &8 FES
BEEEXE |HEIER 1852 | ha
EEEXEH
MiESEE£E |HER%E T2 & (BEERRATL—ZFBD) 100 =
REEB(IVIUIBEED)
HiSEHE 100 ] = 6 T Hb i - ISRt R VB S
RiEEEE 1.00
EE A 1.00
—REEESE 1.00 [ =
FEMmE 1.00
HERME LSS 10] %
AEXEE 1.00




TEERSEHNE (RIMR) REBHFEMKEIS

BRBERTIL—T) R

EFATEL 4 mEAE 52.81 18.52 3.71

miE 1B E) R B
= : (ha) (ha) [0%) tE £ (km) | (km) | E 5 *
Il | 2067| & EEM 11.11 3.95| YL hEER 1.0% 0.79|16~25° 26 0.4 5 |ho<Yy
Il | 2067| B EEM 5.58 1.85| Y hEER 1.0% 0.37|16~25° 26 0.2 5 |ho<Yy
Il | 2067| Y EEM 25.66 8.84| I hEEER 1.0% 1.77|16~25° 26 0.3 5 |ho<Yy
Il | 2067| & EEM 10.46 3.88| L hEER 1.0% 0.78/16~25° 27 0.3 5 |ho<Yy

1.1



BLEHBREETIL—TIRE
TEEAEEHE (RIHR) REEHENEIS
ERTE 1 5.00
HELX | AU |/ BT B (EXTE) i HE (B
i“l 2067 & r%ﬁﬂ%’—fij'ﬁ&ﬁﬁﬁ-#ﬁii‘i 'I'ﬁ%:450*1500mm~ Eﬂi’.ﬂ‘lx‘/“‘/\ X?%X$1ﬁ 500 2&

AR — )L fBiE3m, PPIRE N E

1.1



